C )
\\\x1151 ‘ 550 . —
N J [ | < -
== = > 1.5 15 1.5 ¢
JJ ) )
18
o
i 3
G )
I 400 335
15
15 1470 - -
250 18/12
332
Pe——
490 'Cl\\\\\ T
W ‘\
Rin 5 .
- ] / 7 / 7 7 _5 \'}
// // / ’ // 7MU ' // // /// A A4 — L 1] -
'<|.—_—_—_§r—_—_—_—_|’ % j
S ' 112
S N~
! e ]
N
——
0
8B &
X Q
) <
= = .
—
Lo
o0
S o
- S
L i il 11111 tL_'u-_-m-_‘
. 535
o T
o o
= 3
O - r‘
S =3 N T
S icirn 1 = — J .
o SN0 N Y m LO
o [} H
-~ EE.
‘ 3 il
3 I \I S Q@ |
~N o o (=] 100] ~ 1l ~ \
® % g II mm
© 80, 15011
11
11
o~~~ T—T————— _E-H_o %\
3 i 3 |
15/, 110
| 400 | e
420 325 210 290
15 1470 15 500
1500
yaN 1715
@Repeat e A —
AN




